Source : Meat the truth https://www.youtube.com/watch?v=2uTJsZrX2wI 
Documentary 2008, by Karen Soeters

18% of global greenhouse gas emissions caused by livestock farming (FAO report 2006 by Henning Steinfeld) due to:
· Intensive farming
· Destruction of Latin American rainforest to plant soy crops instead 
· Pesticides on the soy
· Shipping the soy from South America to Europe 
13% of global greenhouse gas emissions caused by transport:
· Cars, tractors, trucks, boats, planes worldwide

Dairy cow (vache de lait) produces ~8000-10.000 L milk/year  500-700 L methane/day
Methan is 21x more potent than CO2
700 L methane/day = CO2 emission produced by a big 4X4 travelling 56km/day
40-50% of cereals in the world used for livestock farming (75% is soy)
7kg of mays and soy = 1Kg beef
Soy production from Brasil increased by 57x since 1960 
In Cina pig and chicken population double every 10 year  not linked to methane but need cereals to be fed (issue if Cina continue to grow its meat consumption)
In Netherlands: one cow produces greenhouse gas emission = to medium size car that travels for 70.000km (1.5x turn around the world)
500 billion (500 milliard) animals/year are killed for meat
1 billion people on the planet suffer from obesity  1 billion people go to bed hungry every day
To produce animal products we need 10x more lands than to produce vegetal products
CO2 in livestock sector = 1/3 CO2 total emission
In US farm industry uses 1/3 of fossil fuel production
Environment Defense source: If a US citizen replace chicken with one veggie meal/week = 500.000 cars off the US road (pas clair si c’est un jour un ans etc..)
FAO estimates:
Between 1950 and 2000 population increased from 2.6 billion to 6 billion and meat production increased 5x from 45 billion kg/year to 233 billion kg/year. Prediction to 2050: 9 billion thus meat production should double to 450 billion kg/year
In a lifetime  European consumes 
· 7 sheeps
· 24 rabbits
· 43 turkeys
· 789 fish
· 1/3 of a horse
· 5 cows
· 42 pigs
· 900 chickens 
[bookmark: _GoBack]= 1800 animals / lifetime = if all the population starts to consume this amount we would need 142 billion animals/year = 3 planets to be able to feed this animals (not sure they are talking about only for European cytizens)
Production of 1kg beef = driving around in the car for 3 hrs

